Vector diagrams involving
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Vector diagrams involving ratios

1. The diagram shows a parallelogram. 2. The diagram shows a trapezium.
DX:XC =13 AXXD = 2:3
4a Sa
A > B A / B
N
2b . /N 3b
| yd
D X C D N C
3a
Write the following vectors in terms of ~ Write the following vectors in terms of
aand b. aand b.
a) DX b) AX a) DX b) BX
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Vector diagrams involving ratios

3. The diagram shows a trapezium. 4. R S T
DC = 2AB
A \4a B . . .
7 RST is a straight line.
DM:MC = 3.2
a+b RS:ST = 4:3.
N N is the ST = 6a U
[\I/I C midpoint of BD TU = 4b - 3a
Write the following vectors in terms of Us =-3a-4b
aand b. Write the following vectors in terms of
a)DM b)DN c¢)MN d)AM 2 and b.
a) RS b) RT c) RU
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Vector diagrams involving ratios

1. The diagram shows a parallelogram.

DX:XC =1:3
4a
A > B
2b
|
D ! C

X

Write the following vectors in terms of
aand b.

a) DX a b)AX a-2b

2. The diagram shows a trapezium.
AXXD = 2:3

5a
A / B
AN
X
/N 3b
/
D N C
3a

Write the following vectors in terms of

aand b.

=59 21
§a- b
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Vector diagrams involving ratios

3. The diagram shows a trapezium. 4. R S T
DC = 2AB
A \4a B . . .
7 RST is a straight line.
DM:MC = 3.2
a+b RS:ST = 4:3.
N N is the ST = 6a U
[\I/I C midpoint of BD TU = 4b - 3a
Write the following vectors in terms of Us =-3a-4b
aand b. Write the following vectors in terms of
a)DM b)DN c¢)MN d)AM 2 and b.
24 5 .1 1, 23 — — —_—
Ta z+zp P -2 za-b a)RS 8a b) RT 14a  c)RU NMa+4b
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